1215* Eigenvector

N, =

4

s=0 ms =0

Irred. Representation : I's

0
E121 = —J4+U+10W + (M — sin (91)) vV Al
V3
|Wia1) 14,0,0,T'32)
= (1211 (/0022) — [0220) — [2002) + |2200))
+  Ci21,2 (|02du) — |02ud) — [0du2) + |0ud2) + |20du) — |20ud) — |2du0) + |2ud0)
—|d02u) — |d20u) + |du02) + |du20) + |u02d) + |u20d) — |ud02) — |ud20))
+  Ci213 (|dduu) + |duud) + |uddu) + |uudd))
+ 012174 (\dudu> + ]udud>)
Ci21-1 = t(J+0U)
t
+ (t(U — QW) + <M — tsin (91)) vV Al)
V3
Ciols = % (=72 =20 +4WJ - U?)
+ ((J +U-W)W — 1—12 (cos (201) + V/3sin (261) — 2) Al)
Ci21—3 = —t(J—l— U)
+ (<% ~ tsin (91)> VA — (U — 2W))
Cioi—q = 2t(J +U)
2
+ (gt (3 —2W) + (3sin (61) — V3cos (01)) \/A1)>
Nig1 = \/401221,1 + 1601221,2 + 401221,3 + 201221,4



